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Cluster: 0242 ptr; resid: 0.42; r/c: 27/79

x.range

upstream meme PSSM #1; e=740

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1e+04

1 3 5 7 9 11 131 3 5 7 9 11 13
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36821

51720

16517

20360

22279

25217

31939

33874

35345

43682

44027

44339

44688
46400

46464

46496

46923

46938

47769

47803

48691

48718

49594

50513

54257

55137

7073

string −500 −400 −300 −200 −100 −1
203600.00
46400−0.05
44688−0.06
36821−0.07
47803−0.11
50513−0.16
46923−0.18
25217−0.24
44339−0.36
51720−0.61
44027−0.72
48718−0.76
31939−1.11
22279−1.24
47769−1.43
49594−2.01
54257−2.75
46938−2.78
48691−2.96
33874−3.49
46464−3.61
55137−4.26
43682−4.51
35345−4.68

7073−4.82
16517−4.92
46496−5.97

log10(P) upstream meme1 2 log10(P.clust)=−1.99; 27 seqs; 27 uniq
c(0.5, 2.5)
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